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JERRH R X 1 101, 078, 592
HEELT = 1 1,159, 946
HRHEI T = 1 232,050 |#EH! 700 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
BEARRE AT = 1 848, 081 | B&IAS (BLEE) k1 510 m3
2. 5mPL 4. OmARTi ;
EuNE R 1, 200 m3
4. 0mPL E
b 220 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 220 m3
+Hw 550, 000m3 AT ;
BRE LT = 1 79,815 | HEKRE T 50 m3
4. 0mPL E
b 60 m3
0 CaBl- EHIRY £5Te) ;
FHIA Ob-27) 60 m3
+Hw 550, 000m3 AT ;
MR B T = 1 4,765, 720
PR IR 2 ELBR T = 1 1,497,420 |Z2E LR 423 m2
ImZ Bz 2mPL T Eekf10m2d 7= v i HE 9.6
t/100m2 tAY bREEA ;
BAEXNHESE T 2 1 3,268,300 | HEWE 1, 000 m3
FEE T BEA 132 v i & 30kg/m3 A A JK
RE(LF (BFEETY)
b E 1,000 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 1, 000 m3
+Hw 550, 000m3 AT ;
EEEET = 1 772, 685
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TA7 7 Ml T X 1 772,685 | T g (I - BIE ) 230 m2

BA)Tyv47/ RC-40 A 10 JE150mm ;

R (HEGE - BRI ) 230 m2
RLEEFHEA M-30 1 9 JE100mm ;

g (I - BIF ) 230 m2
FEERLET ATy (20) EH%EIE 50mm SEXIIEES. 0
mif ;

BN = T 2 1 84, 454, 568
SITTIEE T £V 1 84, 454,568 | La))-} 380 m2

FJ=E 10cm ;

VIR 1,344 m3
PNZEMR10. 5m P22 &5, bm 24-12-25(20) (Ei4A
)

i53i0) 10. 18 t
SD345 D13 ;

i53i0) 30. 91 t
SD345 D16~25 ;

ki 102. 92 t
SD345 D29~32 ;

R Bk AT B A5 IR 6, 532 T
D13 1mB~2mPL T ;

BEHE IR -1 40 N
SD345 D22 X 600 (HDZT77) ;
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AR 1 X

AR 1 X

B 1 =X

H HihR 73 m2
T W B A =20 ;

5% H Hi 90 m

1EAKHR 42 m
CF (it ) 200 X5 ;
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TEHX4y « Tfd - FER B Az W B & #A i il BN
7k y—} 16 m2
B=400 ;
HEKHEY) T = 725, 680
AR T = 725,680 | & (i) SAUANE 47 m
N ZEME200mmLL _E400mmPL T PNZE ) X30em #EHT
Jic B
SN AL T =Y 1, 099, 560
S BLERESE T Y 1,099,560 |jnAlE3 1 =
A Y 8,100, 433
EHEWRAT T Y 1, 865, 241 | EVMIMIK ST 213 m2
JE5cm ;
SR AT = 6,101,992 |EEBHHEA 126 i
SD345 D19 L=4.5m HIFLEE ¢ 65 HIFLE4. 35m ¥
Ehi L
A ERE E T = 133,200 |25 EEHE 1 =
[ERAE Xy = 101, 078, 592
HiE = 11, 331, 300
BISTI S = 1, 183, 300
HeffrE sy 2 193, 300 | A/ nhiR H Rk ER 2y 1 =
WEHAE 1 F2V
BGRESCGES (5 1) = 990, 000
B (FEHL) = 10, 148, 000
T = 112, 409, 892
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e R E20 1 34, 901, 000
T AT 2V 1 147, 310, 892
— e PR E20 1 24, 009, 108
Tk 2V 1 171, 320, 000
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